

ARLINGTON COUNTY, VIRGINIA AGREEMENT NO. 22-DES-ITB-470 AMENDMENT NUMBER 2

This Amendment Number 2 is made on $\frac{12/7/2023}{1}$ and amends Agreement Number 22-DES-ITB-470 ("Main Agreement") dated January 1, 2022, between Zero Waste Solutions, Inc. ("Contractor") and the County Board of Arlington County, Virginia ("County").

The County and the Contractor agree to amend the main contract called for under the Main Agreement as follows:

- Contract Renewal: Pursuant to clause 4. Contract Term, the contract term is hereby renewed beginning January 1, 2024 to December 31, 2024 (Second Subsequent Contract Term) with four (4) additional 12-month renewal periods remaining.
- Contract Price Adjustment: Pursuant to clause 6. Contract Pricing with Optional Price Adjustments, the contract amount/unit prices(s) is hereby increased by 6.5% change in the U.S. Bureau of Labor Statistics Consumer Price Index for All Urban Consumers (CPI-U): U. S. city average, detailed expenditure category, garbage and trash collection for the month of October 2023.
- 3. Payment Term is revised to read:

7. PAYMENT TERMS

The Contractor must submit invoices to the County's Project Officer, who will either approve the invoice or require corrections. The County will pay the Contractor within 45 days after receipt of an invoice for completed work that is reasonable and allocable to the Contract and that has been performed to the satisfaction of the Project Officer. All payments will be made from the County to the Contractor via ACH. The number of the County Purchase Order pursuant to which goods or services have been delivered or performed must appear on all invoices.

The Contractor also must submit to the County's Project Officer its W-9 Form, which will include its Federal Employer Identification Number ("FEIN") or Social Security Number ("SSN"), whichever is applicable, before the County can process payment to the Contractor under the Contract.

- 4. Remove contract provision 20. Covid-19 Vaccination Policy For Contractors in its entirety from the contract.
- Revised Exhibit D-Contract Pricing is hereby replaced with the Revised Exhibit D-Contract Pricing. Pricing from January 1, 2024 to December 31, 2024 shall be in accordance with Revised Exhibit D –Contract Pricing. The Contract amount is hereby changed from \$211,601.21 to \$225,355.28, an increase of \$13,754.07.

All other terms and conditions of the Main Agreement remain in effect.

WITNESS these signatures:

THE COUNTY BOARD OF ARLINGTON COUNTY, VIRGINIA

ZERO WASTE SOLUTIONS, INC.

AUTHORIZED	DocuSigned by:	
SIGNATURE:	Dr. SHARON T. LEWIS	

NAME: DR. SHARON T. LEWIS

TITLE: PURCHASING AGENT

DATE: ______

AUTHORIZED									
SIGNATURE:	Shavila Singh								
_	62D42EDA4F854FC								
NAME:									

TITLE: President

DATE: _____

Revised Exhibit D - Contract Pricing

THE COUNTY AND APS RESERVE THE RIGHT TO ADD OR DELETE LOCATIONS, CONTAINERS AND ADDITIONAL PICKUPS.

GRAND TOTAL FOR All Sections (1-4): \$ 225,355.28

Section 1: Refuse Collection

Locations	Container Size	Number of Containers	C	ost per Pull	Est. No. of Pickups per Year	Total Cost 1/1/2023	CPI-U Increase 6.5%	C	ost per Pull	k	w Total Cost Deginning 1/1/2024
County	96 Gallon	23	\$	4.76	1,456	\$ 6,932.02	6.50%	\$	5.07	\$	7,382.60
County	2 YD	2	\$	11.64	156	\$ 1,815.53		\$	12.40	\$	1,933.54
County	4 YD	17	\$	17.19	1,612	\$ 27,714.31		\$	18.31	\$	29,515.74
County	6 YD	8	\$	23.01	572	\$ 13,162.58		\$	24.51	\$	14,018.15
County	8 YD	14	\$	30.54	1,350	<u>\$ 41,235.01</u>		\$	32.53	\$	43,915.29
				Total fo	or Section 1	\$ 90,859.45]	-		\$	96,765.31

Section 2: Single Stream Recyclables Collection

Locations	Container Size	Number of Containers	C	ost per Pull	Est. No. of Pickups per Year	Total Cost 1/1/2023	CPI-U Increase 6.5%	C	ost per Pull	k	w Total Cost beginning 1/1/2024
County	96 Gallon	55	\$	4.76	2,912	\$ 13,864.03	6.50%	\$	5.07	\$	14,765.19
County	2 YD	4	\$	11.64	208	\$ 2,420.70		\$	12.40	\$	2,578.05
County	4 YD	21	\$	17.19	1,560	\$ 26,820.30		\$	18.31	\$	28,563.62
County	6 YD	2	\$	23.01	104	\$ 2,393.20		\$	24.51	\$	2,548.76
County	8 YD	7	\$	30.54	572	<u>\$ 17,471.43</u>		\$	32.53	\$	18,607.07
			Total fo	or Section 2	\$ 62,969.66				\$	67,062.69	

Section 3: Open Top Roll-Off Container Collections

Locations	Container Size	Number of Containers	С	ost per Pull	Est. No. of Pickups per Year	otal Cost 1/1/2023	CPI-U Increase 6.5%	Cost per Pull	t	w Total Cost Deginning 1/1/2024
County	20 CY - Refuse	1	\$	190.44	10	\$ 1,904.40	6.50%	\$ 202.82	\$	2,028.19
County	30 CY - Refuse	1	\$	195.73	7	\$ 1,370.11		\$ 208.45	\$	1,459.17
County	20 CY - Single	1	\$	190.44	4	\$ 761.76		\$ 202.82	\$	811.27
	Stream									
	Recyclables									
County	30 CY - Single	1	\$	195.73	4	\$ 782.92		\$ 208.45	\$	833.81
	Stream									
	Recyclables									

County	20 CY - Construction and Demolition Debris (including tipping fee)	0	\$ 396.75	0	\$	-		\$ 422.54	\$ -
County	30 CY - Construction and Demolition Debris (including tipping fee)	0	\$ 476.10	0	\$	-		\$ 507.05	\$ -
County	20 CY - Construction and Demolition Debris (not including tipping fee-invoiced separately)	0	\$ 190.44	0	\$	-		\$ 202.82	\$ -
County	30 CY - Construction and Demolition Debris (not including tipping fee-invoiced separately)	0	\$ 195.73	0	\$	-	1	\$ 208.45	\$ -
	,		Total fo	or Section 3	\$ 4,81	9.19			\$ 5,132.44

Section 4: Self-Contained Compaction Units

Locations	Container Size	Number of Containers	С	ost per Pull	Est. No. of Pickups per Year	Total Cost 1/1/2023	CPI-U Increase 6.5%	Cost per Pull	t	w Total Cost beginning L/1/2024
County	20 CY - Refuse	1	\$	529.00	52	\$ 13,754.00	6.50%	\$ 563.39	\$	14,648.01
County	30 CY - Refuse	1	\$	396.75	26	\$ 10,315.50		\$ 422.54	\$	10,986.01
County	34 CY - Refuse	0	\$	587.19	0	\$-		\$ 625.36	\$	-
County	20 CY - Single Stream Recyclables	1	\$	529.00	26	\$ 13,754.00		\$ 563.39	\$	14,648.01
County	34 CY - Single Stream Recyclables	1	\$	581.90	26	\$ 15,129.40		\$ 619.72	\$	16,112.81
				Total fo	or Section 4	\$ 52,952.90]		\$	56,394.84